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— X BEBE A ALy B D TR K

I H 4 5H | 64 7H | 8HA 98 | 108 | 11A [ 12 | 1A 2H 34
P He H 4A20R|5H18H|6H15A|7H20H [8 A 17A|9A 21 H|10A 19| 11A16A|12H 140 |1 A 18H|2H 15A| 3A8H %'i_é
I 7E s R HUS B 47268 (5260|6220 |7H 260|823 |9A290 [10A25H|10828F 128200 |1 H24H|2H21E|3A 148 f@
K 1 14.2 °C|20.4 °C[24.2 °C|29.5 ‘C|25.5 “C|27.1 ©C|23.1 ‘C[17.0 “C|15.1 °C|14.7 ‘C|12.1 “C|21.9 °C
IKFAT P 7.3 7.1 6.9 7.4 7.8 7.7 7.6 7.6 8.0 8.4 8.1 8.0 [5.8~8.6
BOD(mg/0) L] LRG| LR LR DR LR IR LRG| LR LA LR LRG| 25
COD(mg/0) LA | LRG| LA IR LRG| IARWE| LARW|  LARWS| 1R LR LR LRG| 25
Y E i (mg/ 0) 2T 2| oK 2RUE| 2G| 2uE| oM 2N 2RWE| 2oRu| 2K 2| 50
EHREH B(mg/0) 8.90| 9.00| 8.20 6.7 6.2 6.2 5.4 5.4 5.6 6.3 6.0 5.8 [ 120(60)
XBOD="EMBL PR TR R i, COD = bR TR &
R H H Frk294E 117 16 H HE G AU H Frk294E11H 28 H K el 17.0°C
5 H =X VA Bl e (BT H H BEAT | R 2R
NS AT (S 2 A7 i) mg/0 [ 1.0 | IS AR o I K
n-~F YU (BEmiEE AR | me/e [Logi|  s0|FhIrRR=FLL mg/o | U0 0
KRIGEREE &/ cai 0] 3000|¥rmmAz mg/ Oﬂg%% 0.2
T ) VAR mg/0 [0. 14 NS me/0 oﬂg?% 0.02
e A mg/0 ;)%%%’ 3|1,2-Y =gy mg/0 Oﬂg%% 0.04
Tgh A me/0 %%; o|1,1-orma=FL me/0 oﬂg?% 0.2
VAR SRS mg/0 ;)%%%’ 10[v2—1,2-VranzFL o me/0 0;,25% 0.4
Vst~ G A B mg/0 %‘{)ﬁg 10{1,1,1-F)Zam= 2 ma/0 ojg?% 3
ZA=NN=R R mg/0 ;)%%%’ 2|1,1,2-N) ez mg/0 Oﬂg%% 0.06
EHRGAT mg/0 5.4] 12060)|1,3-v7ER7 R~ mg/0 oﬂg?% 0.02
B A& mg/0 1.2 16[F T 4 mg/0 Oﬂg?ﬁg 0.06
BRI LR OZDALEH mg/o | V00 00sfpven mg/o | V20 003
T ALEW) mg/0 0.1 HFA~mnr mg/ 0 %% 0.2
SR O DALY mg/o | 00 0| rUEOAn me/o | Q0L o
Y AN mg/0 %?% 0.5[IZ>F M EDILEW mg/0 0.1 10
WHR B OZDILEY mg/o | Y0l or|soxmUEOAD mg/0 |0.54k 8
KERR T A3 ASRE OO AL A | me/0 0;2%; 0.005 g%;%%gég;ﬁMt A IARRRIE [ g 5.2 100
7 KA me/0 | Attt g 17 L e mg/0 Lok 10
RVHE 7 == mg/0 | ") 0.003
% HH FRL294E5 A 18 H T 7E i R BAs H FR294E6 H 15 H PRHU Tt A
I H H fir TUTE RS R B 1
FAAFT U HE pg—TEQ/L 0.000053 10




(B2 ]

— X BEEEM B ALy S DT K

_ ERR29FET A 20 A e o ERR29FET A 26 A ) 13.7C
oo H SERR304E 1 18 RER R H SERR304E2 ] 23 K i 11.5C
T E s 5 T7E S 5
15 B A7 e 15 W £ YA
i B BAT e ET— FEHEfE H BT RS BT YEMHE
() (M) (k) (F)
- 0.0003] 0.0003 . . 0.001[ 0.001
FIRIT L mg/0 ser| s 0.003(1,1-v7mmrxFL > mg/0 el g 0.02
e me/0 | ettt [ Fprp BRI 100 mmegL mg/0 ojg({)% oﬂg?ﬁ% 0.04
R 0.001] 0.001 B . 0.001[ 0.001
& mg/0 Je|  ers 0.01]1,1,1-F)runx=x mg/0 prueem (R 1
AliZa e E mg/0 %?% %?% 0.05|1,1,2-F)7mm T2 mg/0 ogg%g ogg%g 0.006
WHROLONLA mero | 000 000 o T T
Al 0.0005] 0.0005 _ 0.0006] 0.0006
KR mg/ | ol el 0.0005(FFYA mg/0 | Tendl onl0.006
TR AKBILE ) me/0 | Attt | Fpr | RIS o v mg/o | 90 OO0 0.003
I 7= N e mo | 000000
pyS— R R o I R Y
ST MR R mro | QI 000l
. 0.001] 0.001 . . 0.005] 0.005
vraniss mg/0 el e 0.02|1,4-A %5 mg/ 0 el g 0.05
s 0.0002| 0.0002 . 0.0002] 0.0002
U h =R ES mg/ 0 Jrugent B 0.002|7am=FL mg/0 Jrutemd [Rppeeen 0.002
e . 0.0004| 0.0004
1,2-vr7aaxi mg/0 s s 0.004
B SERR294T 1 20 F et ERk294-8 ] 31 H I BN
HoE R
H H =1 {ir O E
Rk () HRAKCE)
AAFXL U HH pg—TEQ/L 0.027 0.024 1




